7.2

Practice - Multiply / Divide Rational Expressions

Simplify each expression.

8z2 9
D53
9n 7
3) 3 5m
522 6
5) 3

7(m—6) 5m(7m—5)
7) m—6  7(Tm—5)

r . r—=6
9) Tr(r+10) © (r—6)2
256n + 25 4
11) 5 30n+30
rz—10 7
13) 35z +21 ° 35z + 21

z2—6x—7 z+5
15) r+5 R—

17) 24k28f 40k - 15k17 25
19) (n—8) 5
21) e

23) o0 (z+3)

25) —2t2_(5h—3)

40b2 — 24b

n—7 12— 6n
27) 6n—12 n2—13n+42

27a+36 , 6a+8
29) 9a+63 ° 2

31) x? — 12z + 32 . Tx? + 14z
2 —6x—16 Tx24 21z

18m3 — 36m2

33) (10m2 + 100m) -

35) 7p2+25p+12_ 3p—38
6p+ 48 21p2 — 44p — 32

37) 1062 30b+ 20
30b+20 22+ 10b

39) Tr2—53r—24 , 49r+21
r+2 © 49r+14
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Op . 8
* 10
7 . n—2

W~
— N N N~

10(n+3) ° (n+3)(n—2)

6z(z+4) (z—3)(xz—6)
z—3 6z(z — 6)

9 . b—5
b2—b—12 ° b2—-b—12
v—1 4
v2 —11v+ 10

1 8a + 80
a—6 8

p—38 .1

p2—12p+32 * p—10

W~

x2—Tx+ 10 z+10
z—2 z2—2x—20

2r 2r
r+6 ° Tr+42

2n?—12n —54

2102 +16v —16 , 35v—20

3v+4 Cow—9

22+ 11z +24 623+ 622
6x3 + 18z2 245z —24

k—7 k2 — 28k
k2—k—12 8k2— 56k

9x3 4+ 5422 22+ 5x— 14
2+ 5z — 14 1022

n—"7 . In + 54
n2—2n—35 ° 10n+50

7z? — 662+ 80 , 7x*+39z — 70
4922 +Tr =72 " 49, 4 72 72

35n2—12n—32 7n2+16n—15
49n2 — 91n + 40 5n 44

122+ 24 15z + 21
1022 + 34z + 28 5
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7.2

Answers - Multipy and Divide Rational Expressions

1) 422 15) z+1 29) —
2) 4 16) “E10
) ’ ) o 30) 8(k7+3)
3) 16_3 17) 5
n r—4
R 18) L0 1) 053
10m
9(z +6)
5) 37965 19) 3 32) 222
6) 20) 210 33) 9m%(m + 10)
2
4(m —5) 10
7) 5m 21) —— 34) 5o
7
8) - 22) 7 35) 243
9) r+10 ) 4 ) g
e 36) 2=
10) 2+ 4 24) 157 T
5b
1) 2 25) 142 37) 545
12) -2 26) *2° 38) n+3
13) 2222 27) — — 39) r—8
1 r+1
14) v—10 28) :131—3 40) %
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